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RRB Teacher General Maths Questions

If (_?3)_3 —x = G)_z, then the value of (2x + 5)71is

Q1.
(a) 2
(b)1/2
(c)3/2
(d)2/3
Q2. =T a=3603Tb=900,dr (a3iTb F LCM) + (a #T b HCF) H9ET ZRAIT:
(@) 5/2
(b) 5
(c) 15
(d) 10
Q3. =TT 6 T T T&AT 43x82y, 72 & FATST ¢, AT (2x - y) FT AT 747 872
(a)8
(b) 10
(c)12
(d) 14
Q4. What is /1 4 sin 26 equal to?
(a) cos B —sind
(b) cos 8 +sind
©) 2cos8 +sind
(d) cos g+ 2sinf
Q5. TH FIX 45 Torsfi/sier T I ¥ = Tl § 3i¥ 4 5 § U Af%a ¢ a7 Fidl gl IQ agf 21 6 5e 7§ a7
FLAT &, TN L 0T T FAT A2
(a) 34 Tefi/=raT
(b) 30 FRHT/=eT
() 40 TRHt/=r=T
(d) 36 fFfi/=raT
26. If5x — 6 (x + %) = é{:x + 1), then what is the value of (5x + 6)?
(@)3
(b) 4
()5
(d)7
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Q7.

Q8.

Qo.

Q10.

Q11.

Q12.

,  cot54° tan 20°
What is —— + ——— equal to?

tan 367 cot 70"

() 0
(b)1
(c) 2
(d)3

U aq & 3ATohd Tod T2 15% il Ge & o q1% AT Tk THAFRTL A 19% T ATH av gl ehd Tod, 77
T | Tohae STaera Tfa 872

(a) 30%

(b) 35%

(c) 38%

(d) 40%

B ¥ C steher Torelt a1/ &l F\en: 5 a9 3 15 o9 o 27 T 9 g1 Swaid a1 ey | & T
At B« % faat are &1\ | 3 8w CF Q9 F1 srehet 3 o & @1 fonam) qreema & fhaw e ame
B = A T faam

(a) 5 fa=

(b) 4 fa=r

(c) 1.5 fa=

(d) 3 fe=

T FHAQNS % FARort it &ars 24 F sfiw 70 T g1 aH=qSt 7 UF S it Aars #7482
(a) 28 THT
(b) 35 &Y
(c) 37 &t
(d) 47 |+t

The quadratic equation x* + bx + 4 = 0 will have real roots if
(a) b < —4only

(b) b = 4only

(©) -4 <h<4

AABC ¥, £B 3T £C & HHIGHTSI® Ua (9g P 9¥ f9eq g1 If@ .BPC = 102° &, AT A T HIT 4T 872
(a) 22°
(b) 24°
(c) 28°
(d) 32°
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Q13. TH AT 154 3 HHT &IH ATl I o AT T gl TS TH T a1 oh AR | HIST AT, AT a9 T AT
FAT ZAIT?
(TakETl'Zz,F—z)
(a) 144 cm?
(b) 169 cm?

(c) 100 cm?
(d) 121 cm?

Find the largest number among 2%, 352,53 7%
Q14.
(a) 255
52
(b) 3
(d) ?26

Q15. Hforfed § | i |1 &7 3 3f¥ 4 IA1 & [&FATT 82
(a) 1716
(b) 1816
(c) 1713
(d) 1178

Q16. TETET ITATEH FHIAT H HiHEe & & H ATHA 217 % a1g, Hiq H Farar =7 & vF F@fere wwve v =
TTIST AT o o0 Fad, Gohe 3T TIETATHT qAT5ee i 3: 2: 1% qara § [Hea=r grm #fs 1.2 s
T qTSST a9 &, AT I Fha=T Fo® {emT argu?
(a) 200 ITH
(b) 300 T
(c) 400 I
(d) 600 TTH

Q17. S AT 7 2020 H 7= HHTT AT @irar of, T &t siaa 5,00,000 | FT AT THAT AT IH AT
&1 FT T 4% FT ZE0T AT 2022 F T T (FTF F) FT 202
(a) 4,80,000
(b) 4,60,800
(c) 4,60,000
(d) 5,60,800

Q18. TH fTex F AT § Faer oT¥e 3T UTHT gl S AT H 5171 60% Bl A< gH HA0r & arit &1 qiaera
25% AT ATEd &, AT THH ThadT ST JF [HATAT gRIT?
(a) 3L
(b) 4L
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(c) 6L
(d) 7L

Ifx+2=

(a) 1/4
(b)1/3
(c)1/2
(d)1

¥+

=z 1 x 1 .
3= I:mdz+z =7 then the value of x + v + z is:

.

Q19.

If a and b are positive integers (a and b # 0) such that a® =4913, then (a+b)™14 is equal to :
Q20 p g q

(@0
(b)1
(c)13
(d) 23

Q21. TF FATHS & AT HIUT T ATT 1:2:3:4 F AT H §| TIH I FHIT HT AT FT 872
(a) 18°
(b) 20°
(c) 36°
(d) 72°

Q22. =7 AT A AT B 3Tehel Ueh oo [ HHA: 6 H AT 9 5 H AL Hhd & T 1ok d1E<T de1 C 3Tohel IHT oo &l 18
o< H GTAT € ThdT gl AT ST 96T Teh G G (&0 10, qT o Toha ol 5 | AT FATUMT?
(a) 4.5 =<
(b) 5 =<
(c) 3.5 5
(d) 65

Q23. T 3T ABCD #, AC= (2x +3) THT 3fi¥ BD=(3x—5) &HT. dT, (2x +09) FT HIF &:
(a) 8
(b) 16
(c) 25
(d) 27

Q24. 39T ABC % FI B 3% C & AHZHTS(® U foig O U% Afd=eid #7d &1 T «BOC=105° § T «BAC 1<
EF
(a) 15°
(b) 30°
(c) 45°
(d) 50°
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Q25. (T x 3T y FHIM: 60° F FI0T o TTF AT TLF & al (x+y) FT 7E a&@ 2 (a) 120°

Q26.

Q27.

Q28.

Q29.

Q30.

(b) 185°
(c) 145°
(d) 150°

e FHAQHS HT SR T 8, ForeTeh [t & aFare 12 |t T2 25 991 82
(a) 150 cm?

(b) 100 cm?
(C) 300 ij'
(d) 75 cm?

MORE T& SR AT & redH MO||RE & STHTE, MO = 24 THE 9T RE = 18 TH[E gl T THAT
=TS T &R 336 AW ZH(S &, I MO 4T RE % o= &1 T &

(a) 12 TFTS

(b) 14 THTS

(c) 16 THTE

(d) 18 ZHTS

T FATHIL STZTE TN Tl FHITS & GHAT g Toreenl shiHd < 0.50 T a1 HErH e gl IS Fiad HT ATATH
8 THT x 3 THY x 5 HHT &, AT FITA hl AT g

(a) % 158.00

(b) X 79.00

(c) X 316.00

(d) T 790.00

Jed 0 H AR Feon 11, 12, 14, 18, x +2, 22,22, 25 3 61 T 1T 21 F| AT 3x +7 &1 17 8;
(a) 50
(b) 57
(c) 64
(d) 67

5600 F9T T TTTLT ATLTOT STST %0l Ueh TTTAT § T7a9r T STt 81 599 H 7g 1 7000 €I BT SATAT 2
499 § Tg I ToRaet g1 SITus?

(a) Rs.6240

(b) Rs7800

(c) Rs.6720

(d) Rs.6700
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S1. Ans.(b)
Sol.

So, the value of (2x 4+ 5)71
ex(-)+9)"

(5+5)"
=(6 —3)7!
=)™

-1

2

S$2. Ans.(d)

Sol.
LCM ofaand b=1800
HCFofaand b =180

S0,
(LCM of a and b) + (HCF of a and b)
1800
— =10
180
$3. Ans.(a)
Sol.

According to the question, 43x82y is divisible by 72
Or, 82y is divisible by 8

Or,y=4

Sum of the digits=4+3+x+8+2+4=21+x
Now, 21 + x is divisible by 9

So0,x=6

Therefore, (2x-y)=2x6-4=8
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S$4. Ans.(b)
Sol.
Consider, v/1 + sin 26

=+/sin2 8 + cos? 6 + 2sinf cosf
=/(sinB + cos§)? = sin@ + cos @

S5. Ans.(b)
Sol. T = 45x4=180 Tt
o I = 180/6 = 30 FRHt/=aT

S6. Ans.(b)

5x+6=5x—§+6= —24+6=4

$7.Ans.(c)
Sol.
cot34”  tani(® _ cot (90°-36°) | tan (90°-70%)
tan3g® oot 70° tan 3&6° cot 70"
tan3&®  cot70°
= -|- =1 -|- 1=2

tand6®  cotTO°

$8. Ans.(d)
Sol.

MP _ 100+p% onEzEzz
CF  100-D% CP 85 5
Let, MP =7x

So, CP =5x

Here, Article is sold at MP
So,5P=7x

Profit=7x - bx = 2x

P% = 40%
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S9. Ans.(d)

Sol. Bft#dar=1/5fRasicCc=1/15%"
CWS%ﬁW{U%&TWT:SX%:g

B &% C 3T fireme T e A =1 -2 = 2
B T F1 = x fom

1 1\  4x 4
(5+15)x‘15‘5
X=3f+
$10. Ans.(c)

Sol.

[AaZi708: 7
According to the question, 5 = @ = ’2_4 =37
S$11. Ans.(d)

Sol.

If root are real
b? —4x4=0
b* = 16
b=s-4b=4

$12. Ans.(b)

Sol.

Therefore, ZBPC=90° + £A/2
Or,£A/2=102-90

Or, £A/2=12°

LA =247

$13. Ans.(d)
Sol.

The area of the circle = mr? = 154
Or,22/7xr2=154

Or,r=7cm

Circumference = 2nr

=2x7x22/7

=44

Circumference of circle is equal to the perimeter of square
4a =44

Or,a=11cm

So, the area of the square = 121 cm?
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S$14. Ans.(c)
Sol.

5x13 4x13 £3x13 72x13
20748 3anis Ranls g

= 32,81, 125,49 (powers are same)
Hence, 537 is the largest number.

$15. Ans.(a)

Sol. e 1716 & forw

T HT AWM 1+7+1+6=15

15, 3 & fawrrew € ol sifaw 2 ofF 16
16,4 7 A= 81

$16. Ans.(c)

Sol. ST & Tt ATT: 3+2+1=6 AT

U 9T &7 a99=1.2/6 #Fam=0.2 FRm

TEHL T For=2x0.2 FFFIT=0.4 BRIT = 400 7

$17. Ans.(b)

Sol. 2021 ¥ FrHa:

2021 ¥ F9a=2020 § FTax(1-0.04)

2021 # FH9=5,00,000%0.96 = 4,380,000 =T
2022 ¥ Froq

2022 H FHa=2021 & FHHax(1-0.04)

2022 ¥ FHa=4,80,000x0.96 = 4,60,800 =TI

$18. Ans.(c)

Sol. ST T § o7 s AT ¥1=0.60x10 L=6 L
ST fHeror & oTet T /AT 911=0.40%10 L=4 L

AT o Toh x SAe? 97 (9T 137 8

TAT A ATAT=(10+x) L

FFA T 75 HATAT: (6+x) L

Tt T TTTera= (T 30t HIAT/FAT FF A Fa)x 100=25%

= 0.25

10+ x

4=0.25%(10+x)
4=2.5+0.25x
4-2.5=0.25x
1.5=0.25x
x=6L
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$19. Ans.(c)
Sol.

it
=
el =

3x 3y 3z 3

+ =
2 2 2 4
x+y+z=1:‘r2

$20. Ans.(b)
Sol.

af = 4913
(17)* = 4913
a=17andb=3

(17 +3)7-3714 = (20)° = 1

$21. Ans.(c)

Sol.ﬁ@ﬁﬁ%ﬁﬁﬁ“ﬁ%ﬂq=x 2%, 3x and 4x
x + 2x 4+ 3x + 4x = 360°

10x = 360°

x = 36° (™ FIaT FI)

$22. Ans.(a)

1 1 1 1 1 1 3+2-1 4 2
Sol o+ 4=t %= 15 — 15 o
é’?ﬁﬂ'@ra»‘rww:%zgzzt.sa’%

9
$23. Ans.(c)
Sol. f&=T 14T § AC=2x+3 3fi¥ BD=3x-5
2x+3=3x-5
x=8

2x+9=2(8)+9=16+9=25
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S$24. Ans.(b)
Sol.

£/BOC=90°+ %/_Bﬂc

Given £BOC = 105°
1
105° = 9Q° +§LBFLC

1
15° = ELBAC

£BAC = 30°

$25. Ans.(d)
Sol.

The supplement of an angle 507

x = 180° — 60° = 120°
The complement of an angle 60°

¥ =90° - 60" = 30°

x +y=120°+ 30° = 150°

$26. Ans.(a)
Sol.

Area of rhombus =

B3| =

X dy X dy = 3% 12 % 25 = 150 cm?

$27. Ans.(c)
Sol.

The area of a trapezium = %(a +b)h

336 = %{24 +18)h
672 = 42h Type equation here.
h = 16 units
$28. Ans.(b)
Sol. T& =ATH &T T8I &% = 2(lb+bh+hl)
S=2(8x3 +8x 5+ 3 x 5) = 2(24+40+15) =2 x 79 =158 cm?

SUEI AT I Thel & [o1T AELTF FRTS 0l aEd = 158 x 0.50 = . 79
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$29. Ans.(c)
Sol. ATTETaT 53T YAT g x+2=21ATx =19
3x+7=3%xXx19+7=57+7 =64

$30. Ans.(c)
Sol. SI = prt/100

1400 = 5600 X 1 X —
100
R=5%
TSI = 5600 X 5 X == 1120
TA T(A=ALT + TS
FT WFA=5600+1120=%. 6720
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